29.01.21 – Maths
Today for your warm up I’d like you to spend 5 to 10 minutes practising your tables at https://www.topmarks.co.uk/maths-games/hit-the-button. See how you get on!

We are continuing our work on equivalent fractions today. Please complete the following. Remember if it asks you which is the odd one out it means which one is not an equivalent  fraction.

If you are confident choose 5 questions from one of the sections below then complete the challenge questions.
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ANSWERS
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Examples

You can change a fraction into an equivalent fraction by multiplying or dividing (cancelling).

1(x3) _ 3
4(x3) " 12

B

Copy and complete.
0;- o:-
0:-5 0i-
oi-5 oi-
©i-m @3-
0:-7 o-
oi-f oi-
0i-5 oi-
oi-5 o:-

Write the odd one out in
each set of fractions.

@223
12 8 6 9
0 & 23
10 12 5 6
QL 5 26
12 100 12 8
D2 8458
12 212 6 *9
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Copy and complete.

-7 041
0:-5 o4
o:- oz
©-m® -7
0% @51
02 @5}
02 0}
02 0%

Write the odd one out in each
set of fractions.

5 4 2 25
20 10 8 100
80 20 12 16
100 24 15 20
6 342 5
60 18 12 30
12 15 8 75
16 20 12 1




image2.png
1) Wendy the Wizard needs to complete the
jigsaw to release her spell book from her
evil enemy’s clutches. Match the mini
triangle cards, so that pairs of equivalent
fractions are next to each other, to
build a larger triangle. ¢
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1) Wes the Wizard is finding equivalent
fractions. He says,

5. i 7

% is equivalent to g because
whatever you do to the top,
you also do to the bottom.

Explain why Wes is wrong.

2) Marc the Master Wizard is working
out some equivalent fractions.
He has written this in his
spell book:

Give 4 possible sets of equivalent
fractions showing the values of A and B.
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1) Wes is wrong because you need to multiply or divide the numerator and denominator
by the same number to find an equivalent fraction. Instead, Wes has added two
to both the numerator and denominator, which is an incomeft method.

2) Possible answers:

2.2
2 12
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